P.A. T.

PI-LOGK

A T+Ry I X

W P B

e # '
Name of Parts Material
@ | 35 7DC.zZAS
Sy %

@ | packinG =

® | Bethn | e

@ | Rk AP

® | Bhaig™” | o

ty hEZ
® | ser screw ss
N 5 59 o 5 ty FEX R | =8/1(8
4% 0% No. G INA THAX A B © D d L Set Screw ”‘ﬁga’ Vﬁ/PC
Catalog No. G Thread Pipe Size (mm) (mm) (mm) (mm) (mm) (mm) gy P sm_ﬁg ®

WPB-16 G1/2 16 1/2" 32 28.5 13 21.3 | 138 46 M5X8 1 50 75
WPB-22 G 3/4 22 3/4" 38 31 13 26.8 | 19.2 49 M5X8 1 50 100
WPB-28 G1 28 1" 46 32 14 33.6 24 51 M5X10 1 35 160
WPB-36 G11/4 36 11/4" 58 36 16 42.3 33 58 M5X10 2 60 230
WPB-42 G11/2 42 11/2" 66 40 18 482 | 385 65 M5X10 2 40 320
WPB-54 G2 54 2" 82 47 20 60 50 75 M6X10 2 20 540
WPB-70 G21/2 70 21/2" 96 50 22 75.7 | 64.6 80 M6X10 2 15 718
WPB-82 G3 82 3" 120 60 29 88.3 | 77.5 95 M6X12 2 10 1,017

AT L ZEBICEALE L TESBVEDE &L,
M7 —REOHEINDELIZERIESR LA T IV (FFEEELED ET,)

OBz ehl) R - ZOMOBHARIE. FELCERTIHBENHNETOTHOPULHITHELIZEL,




